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A AL
FM: MIIES2 sEOS =4
Sl FUSHAY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Os=¢ el o+ OtAZIM I S At 20,000
< 20,000
OsH M20I8 &+& ZHIA 25,000
< 25,000
22 ESBASEAIEE | 800,000 0 800,000
< 400,000
s 400,000
AL SS/AEAE FHl 800,000 0 800,000
< 400,000
[ia 400,000
401 AIEHIZ 28I 800,000 0 800,000
< 400,000
s 400,000
01 A& Bl 800,000 0 800,000
Ostd™ I3 HHAY 600,000
< 300,000
e 300,000
OO0IAMY QIAH3W HHIAY 200,000
< 100,000
s 100,000
59 5ZE ZMY Y3 29,159,972 21,697,801 7,462,171
= 793,000
s 8,277,000
= 1,776,200
s 18,313,772
SSMA DB Y 11,515,000 9,882,057 1,632,943
= 793,000
< 1,626,000
s 9,096,000
=& ZXNFelAd 100,000 0 100,000
< 86,000
[ia 14,000
403 XSS X201 & 100,000 0 100,000
< 86,000
e 14,000
02 SO 2SO HEHAHE X 2 &AL H 100,000 0 100,000
OMEIZ == XA 100,000
= 86,000
s 14,000
F=Cl A8 |2 1,215,000 355,000 860,000
201 £B-2dH| 25,000 15,000 10,000
01 At 22/l 5,000 5,000 0
O2tF =Z2IAN =2 ¥ M=+E 2 5,000
02 22| 20,000 10,000 10,000
O=clAlZ &I|S4tl 20,000




2N AL
HE: =9 s&E ZM A5
SHol: S JIBHEN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 1,190,000 340,000 850,000
01 A& HI 1,190,000 340,000 850,000
CAE 2SE=AY 100,000
Ostdad 222HM HHIZA 50,000
OUOLH AA M HHIZA 50,000
OXM=Xl Mg E=HHA 140,000
OFYHEALSA (AT, 2FH) 50,000
Of+==2&& FHlYx= 100,000
Ostz=x Ma=XAIE SXZelAtg 100,000
OotdEU =INIBtAld (=2, FYE S) EHl 300,000
Ost== M=X JHl ¥ &E&8E &4 300,000
SelAlE HESA (HEAY) 993,000 1,400,000 A 407,000
< 880,000
s 113,000
401 Al HIZ 201 I 993,000 1,400,000 A 407,000
< 880,000
s 113,000
01 A& HI 993,000 1,400,000 A 407,000
OJESXF =elAld HE=AY 100,000
< 80,000
[ia 20,000
OZHEXF =clAlE HE=AE 100,000
< 80,000
s 20,000
OAM=X7 =elAld HE=AY
387,000,000 387,000
< 349,600
s 37,400
OMNE2X 7 =elAld HE=AY
28,000,000& 28,000
< 28,000
OHRXF =elAlE HE=AY
100,000, 000& 100,000
S 80,000
i 20,000
O&elX=7 =elAld HE=AY
278,000,000 278,000
< 262,400
[ia 15,600
=clH =clAd |X2c 20,000 90,000 A70,000
201 Let249] 20,000 20,000 0
02 =24l 20,000 20,000 0
O=clH =clAld |X2cl 20,000
A2 SYIIEAIE 6,801,000 3,348,000 3,453,000
= 660,000
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SN AL D

HE: =9 s&E ZM A5

SRl M JBEY

2N -3 -2 (SH) - NHEAMY - BES Off &t 24 %Ei

Oslzg Mellel 5= ZESA 30,000
Ost&s MEN12l BH42 FulZ A 20,000
Ostag +0132 Bi+2 FUIZA 30,000
Osteg 2zl A& FHITA 50,000
Ostzg Fc32 52 HESA 20,000
OBET Jteel 52 THTA 30,000
OBEDT Jtgoel =2 WS A 25,000
OB&EB SIH12l HH EHHI2A 50,000
OB EH Hi2l B2 FUIZA 30,000
OBt&ED Bel 42 ZUIZA 15,000
OZYH Jis2l 52 THBN 30,000
OFYH JtEel 42 B43A 15,000
OFYH Jtgel 52 FUIBA 20,000
OFY JtZel 528 AN 25,000
OFYH JtZel W42 SXBAM 35,000
OEYH Jt=2l 42 FUIZA 30,000
OZY HEE 42 ZUISBA 30,000
OFYH a2l HH SXIZA 35,000
OFYH HHal2l 42 FUISBA 50,000
OF2B a2l 2H HHIZA 25,000
OZ a2l t+2 HulZ A 25,000
OEYH =2 W42 JUIBAM 30,000
OFgY FWe 52 HHISA 20,000
OZYH a2zl HH LSXTA 25,000
OFYY szl a2 ZUISBA 44,000
OHEY w22l a2 SXDA 50,000
OBEX W22l W42 IUIBA 50,000
OHES W T8 S2EYIM 70,000
OBEX NE2l 42 JUIZA 20,000
OHEH M2l 52 HEBA 30,000
OBEH M2 542 HUlTA 35,000
OBE o2l 42 ZUIZA 25,000
OBEH Z2| W42 JUIBA 40,000
ooy LM 52 TEHIA 30,000
OO0lg 2H32 42 FulTA 50,000
Oo0lgH 232l 2H BLTA 50,000
OO0y =Jel IH FHITA 25,000
O0YH 2212 =2 LI 20,000
O0lgp SXel 52 L H+2 HUIZA 33,000
OO0lg stz 542 FUIBA 25,000
OO0lgE Sistel 42 FHIBA 50,000
O0lgH 252 52 THBA 40,000
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A AL

B =9 & ZM s

CHol: Sl M JIBHE A CCHR-ED

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OuotH o2l == EUlISAt 35,000
OUHOIH Yel s2 I SA 10,000
OUOLH Yol s2 ZHIA 25,000
OHUOtH MRl s2 ZHIA 40,000
OUHotH Ne12l =2 ZFHIZA 20,000
OOt Otatx=sst F OIS YZ2 ZEH S A 25,000
OUotH J2l =2 TS 23 A 45,000
Os=2d Jix2l == FUISAt 50,000
O=s=2H &l =2 SEZHEIA 30,000
OAFE®H ZAH2 2 H FHI S A 20,000
OAMEH el s2 ZHEIA 10,000
OAMEH el =2 ZESAM 60,000
OAEH 32l A ZHISA 50,000
OAFE ™ W32l iz &AXSA 55,000
OAMEH H=2l =2 FHISA 20,000
OAMEH AtE2l =2 ZEIA 34,000
OAMEH AE12] JHAH BHISAH 25,000
OAMEH A2l =2 FHI3A 15,000
OMEH el s2 ZHIA 20,000
OMEH 242 2 &Il 20,000
OMEY K0t =2 ZEHIA 27,000
OMEH ZEe s2 ZHIA 35,000
OArEH ZN2| IISE Ex3A 50,000
OAMEH ZEel HUYE FHISA 100,000
OAMEH ZiHe| =23 At 20,000
OAMEH =4te] s2 ZHIA 20,000
O=sH 252 =2 ZE3AM 30,000
OsH =22l =2 JHlIS A 20,000
OsY HHE2e(?=) =2 ZEIA 15,000
OsH SEits s2 ZZF3AM 20,000
O=d Ohate] =2 HESA 20,000
OsH AZ2] WA FHISA 35,000
OsH AL =2 FUISA 30,000
OsH 22 HASA 20,000
OsY% 232l #1 U SA 50,000
O=s% 232 == Ul S A 20,000
O=H S40ts Sth+==2 ZEHISAM 50,000
OSH 220MS(NE) 52 ZESAM 30,000
O=sd 23H 24X 2 22 HEFSAM 40,000
03 Al =2 THHI 10,000 10,000 0
O2E =gIIBAIE 20 10,000
403 XAXISHM S X201 A 1,500,000 0 1,500,000




2N AL
HE: =9 s&E ZM A5
SHol: S JIBHEN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 S 2S0CHet A =& 2 & AL H 1,500,000 0 1,500,000
Od&E1 == HUIAMY S 42H 1,500,000
THoH I & M==X HHIAE 1,586,000 0 1,586,000
= 793,000
[ia 793,000
401 Al HIZ 2018 1,586,000 0 1,586,000
= 793,000
i 793,000
01 A& HI 1,586,000 0 1,586,000
OF&H MollASE M=K HHIAE 804,000
= 402,000
s 402,000
Os4& M MolIgM=Xl ZHAS 100,000
= 50,000
s 50,000
OS2 M MollASEM==X HUIAE 682,000
= 341,000
s 341,000
sSYIIeAIE Tl =+ 800,000 4,689,057 A 3,889,057
401 AIEHI L 2CHEI 800,000 4,544,865 A 3,744,865
01 A& tl 800,000 4,544,865 A 3,744,865
020204 S22Iloll MHal=E7 SAH(KHE) 800,000
SHENS HEAY 17,644,972 11,815,744 5,829,228
s 8,277,000
S 150,200
i 9,217,772
Jl=Maolmo(MEs A ) (3= ) (HEAY) 300,000 200,000 100,000
401 Al HI K 201 I 300,000 200,000 100,000
01 A& tI 300,000 200,000 100,000
Os=s&Edasd I 300,000
I=MaNEs48(=3H) 1,510,143 874,000 636, 143
as 1,055,000
e 455,143
401 A& HIZ 201 I 1,510,143 874,000 636, 143
s 1,055,000
s 455,143
01 A& HI 1,507,143 871,000 636, 143
OE28 J=deENd =4 1,507,143
s 1,055,000
[ia 452,143
03 Al 2 THHI 3,000 3,000 0
OE2H J=MENE =4 3,000
SENSSSEMHL ALY 250,000 102,400 147,600




A AL
M =g - =& ZHH 235
& SHEDS HE MY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 10,000 0 10,000
02 3322l 10,000 0 10,000
OLEISLAHEMNE 2223 10,000
401 Al Bl 28I 240,000 100,000 140,000
01 A& HI 240,000 100,000 140,000
OgtsdtHEMNY RAI22] 80,000
OO0IMARLIEIME S4& LAt 30,000
Od=39 AHARUEIMH 22 HE2H3S} 50,000
OLELSLUHEMNY AR S2AY HEE 80,000
SEUS=SJ(FS2)(FSAY) 1,650,000 300,000 1,350,000
401 Al&HI & 28I 1,650,000 300,000 1,350,000
01 Al 1,650,000 300,000 1,350,000
OFs= sEUs=d 1,650,000
sEZHNNELS(steS) 2,520,000 1,351,428 1,168,572
s 1,764,000
e 756,000
401 Al B2 2B 2,520,000 1,351,428 1,168,572
as 1,764,000
s 756,000
01 A& HI 2,518,000 1,351,428 1,166,572
Oste=s sESTAX 43 (LX) 2,518,000
= 1,764,000
s 754,000
03 Al 20 HI 2,000 0 2,000
Oslz=s sESAX 43 (LLX7) 2,000
SESHUNELEFI(EEXR)(sFH) 1,173,429 2,186,000 A 1,012,571
s 817,000
i 356,429
401 Al HI & 28I 1,173,429 2,186,000 A 1,012,571
s 817,000
s 356,429
01 A& HI 1,170,429 2,183,000 A 1,012,571
OsFH sESHX E43(HdEXF) 1,170,429
s 817,000
s 353,429
03 Al 20 HI 3,000 3,000 0
OsFH =X 483H(d=X7) 3,000
SEEANSHE (LB (SES) 18,000 0 18,000
401 Al & HI & 28I 18,000 0 18,000
01 A&l 18,000 0 18,000
S=0 SESAK BHHAY(LBIR) 18,000
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A AL
B =9 & ZM s
Sl SO{EDS WA (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sE MEESHAAY 2,162,400 980,000 1,182,400
7 1,470,000
s 692,400
101 @14 Hl 62,400 0 62,400
04 JIZHHZ2XNHEE S 62,400 0 62,400
Os&E MEHEHAANY FAC 22AHYH| 62,400
— ANR=2F 248 3,000,000&«1H 124 & 36,000
— A3 1Al 2,200,000& x1H x 1204 & 26,400
401 Al& Bl & 28I 2,100,000 980,000 1,120,000
R 1,470,000
s 630,000
01 A& HI 2,100,000 980,000 1,120,000
OsZ& MEHZEA AN (S=2) 2,100,000
s 1,470,000
s 630,000
SOlE FHUXS MBOA WEAND(HSOHS) 531,000 455,000 76,000
s 397,000
< 40,200
[ia 93,800
401 Al H L 2T 381,000 455,000 A 74,000
s 381,000
01 A& HI 381,000 455,000 274,000
OFEY oflsitES sHE HAXSG HEHA
M= A 381,000
s 381,000
402 RIZ2EXt20l ™ 150,000 0 150,000
s 16,000
< 40,200
[ia 93,800
02 QI2t X2 AL E X (0l X THE) 150,000 0 150,000
OZEY oflsitES sHE HAXNYG HEHA
M= AL 150,000
s 16,000
< 40,200
s 93,800
SOlE FHUXS MBOA HEANS(SS0IS) 665,000 569,000 96,000
s 493,000
< 52,000
[ia 120,000
401 Al H L 2T 465,000 569,000 A 104,000
s 465,000
01 A& HI 465,000 569,000 A 104,000
OO0IgH IS0 S0HE HUXA MBI
MZ=AS 465,000
s 465,000




A AL
B =9 & ZM s
& SHEDS HE MY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
402 BI2FX=01 M 200,000 0 200,000
= 28,000
< 52,000
= 120,000
02 QI EAILEZ (01X S) 200,000 0 200,000
O0lYe IS0 S0&E HAX S MO
HEAS 200,000
= 28,000
= 52,000
= 120,000
SHE FHAXNG MEWH HEAML(FAOES) 210,800 849,000 A 638,200
s 157,000
< 16,000
[ia 37,800
401 Al HI & 28I 210,800 699,000 A 488,200
s 157,000
< 16,000
s 37,800
01 A& HI 210,800 699,000 A 488,200
O HAMOS sHE HAXNY d&HA
HEAS 210,800
s 157,000
< 16,000
s 37,800
SHE FHUXNS MEWH HEAML(S0OS) 600,000 0 600,000
= 448,000
< 42,000
s 110,000
401 Al& I 28I 450,000 0 450,000
s 448,000
< 2,000
01 A& HI 450,000 0 450,000
OsH =802 sHE FANIAMENA H=E
A 450,000
s 448,000
= 2,000
402 QI2H X201 A 150,000 0 150,000
= 40,000
s 110,000
02 QI 2 A EZ (01X TH ) 150,000 0 150,000
OsH 2802 sHE HAXNIAMENA H=E
A 150,000
< 40,000
s 110,000
SEES 2,104,200 500,000 1,604,200
s 1,473,000
= 631,200

- 22 -




A R =y
B =9 & ZM s
& SHEDS HE MY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 2,104,200 500,000 1,604,200
s 1,473,000
s 631,200
01 A& HI 2,104,200 500,000 1,604,200
OO0IMH JIzMENEZY 311,400
s 218,000
s 93,400
OUotH JI=MENE =4 311,400
s 218,000
i 93,400
OMEHA JZMENE =4 311,400
s 218,000
[ia 93,400
O=sH sE3aX 43t 1,170,000
s 819,000
s 351,000
OIS SO (SEML)(SHA12) (HEALY) 950,000 0 950,000
401 AIEHIZL 2CHEI 950,000 0 950,000
01 A& Hl 950,000 0 950,000
Ostd™ stH1el DISUHSINSE ML) 950,000
OFS SO (XIS ) (8HAH122]) (HEALY) 360,000 0 360,000
401 Al HIZ 201 Y| 360,000 0 360,000
01 A& HI 360,000 0 360,000
Ostdd sH2el DISSLHSI(AEBHE) 360,000
OIS HSI(RSHEYE) (248) 360,000 40,000 320,000
401 Al HIZ 201 8] 360,000 40,000 320,000
01 A& HI 360,000 40,000 320,000
OZ4 OIS AUEIN(MHSHY) 360,000
DISSSI(RNEHY) (LHE) 260,000 40,000 220,000
401 AIEHI L 20 260,000 40,000 220,000
01 A& HI 260,000 40,000 220,000
ouE DIEAUsII(MHsHY) 260,000
DISSSI(RHBMHYE) (M) 360,000 40,000 320,000
401 Al HI K 201 I 360,000 40,000 320,000
01 A& Bl 360,000 40,000 320,000
OMZ Or22tSJ1(XsHY) 360,000
DIS2SI(RH8BHYE) (2%01) 360,000 40,000 320,000
401 A& HIZ 201 Y| 360,000 40,000 320,000
01 A& HI 360,000 40,000 320,000
O2%0l DISEI(As8sHe) 360,000
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2N
X ZH -
L= B

el

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
DIS2SI(RHBHYE) (B&) 360,000 40,000 320,000
401 Al I 2 O8I 360,000 40,000 320,000
01 A& Bl 360,000 40,000 320,000
ORA OI224SII(XHs8HY) 360,000
DISSI(RNBHYE) (L&) 360,000 40,000 320,000
401 Al&HI & 28I 360,000 40,000 320,000
01 A& HI 360,000 40,000 320,000
O4E IIS2¢USI(XHE8HY) 360,000
OIS HSI(RSHE) (A A) 40,000 0 40,000
401 Al B2 28I 40,000 0 40,000
01 A& HI 40,000 0 40,000
OXNSOIESEII(RSHY) 40,000
DIS2SI(REBHE)(HS) 40,000 0 40,000
401 AIEBIZ 201 8I 40,000 0 40,000
01 A& Bl 40,000 0 40,000
OXZ0SUSI(RNSBHY) 40,000
DISYHSI(RBHE)(SE) 40,000 0 40,000
401 Al I 28I 40,000 0 40,000
01 A& HI 40,000 0 40,000
O=HOISSI(R8He) 40,000
DIS2SI(RHSBHE) (L) 40,000 0 40,000
401 Al& I 28I 40,000 0 40,000
01 A& HI 40,000 0 40,000
ORAOISSII(RSHY) 40,000
OIS HSI(RNSHE)(HE) 40,000 0 40,000
401 AIEHI L 2CHYI 40,000 0 40,000
01 A& bl 40,000 0 40,000
OUEDIS2HSII(RSHY) 40,000
DISYSI(RBHE)(EG) 40,000 0 40,000
401 AIEHIZ 28I 40,000 0 40,000
01 A& Bl 40,000 0 40,000
OHGOISUSII(RSHY) 40,000
ANZSE2s(ste=2) 290,000 270,000 20,000
s 203,000
s 87,000
402 RI2EX=01 M 290,000 0 290,000
s 203,000
s 87,000
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A R =y
HE: =9 s&E ZM A5
B2l SOHENS HEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 212t &AL S HI 290,000 0 290,000
OANZ &L (at=2) 290,000
s 203,000
[ia 87,000
FENTAsH=sZHUHSJEZLEAMY 20,000 20,000 0
401 Al HIZ 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
O®R&EXF =ZHOIEE |X22/d 20,000
HENSZE (HEAY) 30,000 30,000 0
401 AIEHI L 2] 30,000 30,000 0
01 A& Hl 30,000 30,000 0
O&30ES |A2e 30,000
HY2FZH (AL D) 518,736 495,918 22,818
< 289,961
s 228,775
Jl= &l 66,880 63,520 3,360
Jl=dl 66,880 63,520 3,360
201 Let24d] 51,880 43,520 8,360
01 At 22/l 51,880 43,520 8,360
OArRZ2lH(REAEY) 25,000
O=SH(2A2E) 8,000& * 2198 » 160 26,880
202 (44l 15,000 20,000 A5,000
01 SLHOIYI 15,000 20,000 A5,000
SN2 (2Loidl) 15,000
ol 2d | 451,856 432,398 19,458
< 289,961
fia 161,895
N =2 & 22| 451,856 432,398 19,458
< 289,961
[ia 161,895
101 @124 4] 451,856 432,398 19,458
< 289,961
s 161,895
03 SR (RIAHY)2Z2NE S 451,856 432,398 19,458
OXNgE 283 21l 451,856
< 289,961
e 161,895
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